GSA Short Course: Session 1 Regression

REGRESSION MODELLING AND LEAST-SQUARES

The aim of regression modelling is to explain the observed variation in a response variable, Y, by
relating it to some collection of predictor variables, X1, Xo, ..., Xp. The variation is decomposed into
a systematic component, that is, a deterministic function of the predictor variables, and a random
component that is the result of measurement procedures (or unmeasurable variability). The simplest
model is the Normal Linear Model, where the systematic component is a function of the predictors
and some model parameters, 3, and the random variation is assumed to be the result of additive
normally distributed random error terms. This model is explained in section 1.

1 THE NORMAL LINEAR MODEL

We assume that the variables to be modelled are as follows; we will observe paired data, with
response data y; paired to predictor variables stored in vector form x; = (2;1, ..., ¥;p)", and our aim is
to explain the variation in (y1,...,yn). We achieve this by modelling the conditional distribution of
response variable Y; given the observed value of predictor variable X; = x;. Specifically, we may write

D
Y; =B+ Bz + ..+ Bpmip + & =By + > Bjwi; + & (1)
1

j=

where ; ~ N(0,02) for i = 1,...n are independent and identically distributed random error terms.
Note that this implies

D D
Yi|X; = x; NN(ﬁo‘f‘Zﬂjl‘z‘j,U?) By, YilXi = z;] :50+Zﬁj$¢j- (2)
j=1 J=1

In vector notation, this model can be re-written Y; = xiTﬁ + €;, where z; = (1,41, %40, ..., x;p) ", and
thus, for vector Y = (Y1,..., ;)" we have

Y=XB+¢

where X is a n x (D + 1) matrix called the design matrix

1 zy1 -+ wip
1 x99 -+ mop
X=1|1 z31 -+ x3p
L 1 xp1 -+ Zup 1
and to mimic (2)
Y ~ N, (X3,0%1,) (3)

where I, is the n X n identity matrix, giving a joint pdf for Y given X of the form

Fr0%) = o { 520 - X0 - X9) | ()

This joint probability model will form the basis of inference.

NOTE: we will also see that a model-free estimation procedure can be constructed on the basis of a
goodness of fit criterion.
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1.1 THE EXTENDED LINEAR MODEL

The formulation of the linear model above can be extended to allow for more general dependence
on the predictors. Suppose that g1, g9, ..., gk are K (potentially non-linear) functions of the D original
predictors, that is

9k(%i) = gr(Tit, ..., TiD)

is some scalar function, for example, we could have

gr(x;1) = x;1 (the identity function)

(
gk(le) = ak\/ﬁ
(
(

® gr\Ti1,.--, TiD
® gr\Ti1,.--, TiD

k(i) = ax log xin

Q

)=
)=
o gi(Ti1, .., Tip) =
)=

o gi(zit,...,zip) = gr(xin, Ti2) = apwin + brpxio

and so on. This reformulation does not effect our probabilistic definition of the model in (3); we can
simply redefine design matrix X as

gi(z1) - gr(w1)

1 gi(z2) - gx(x2)
X=|1 gil@s) -+ gkl(z3)
|1 @) e oxlen) |

now an n X (K + 1) matrix. In the discussion below, we will regard the transformed variables
(1(X),g2(X),...,gx (X)) as the predictors and drop the dependence on the transformation functions.
Hence we have

e Y as an x 1 column vector
e X as an x (K + 1) matrix with ith row (1, g1(x;), ..., gx (zi))

e Jasa (K +1) x 1 column vector
1.2 LEAST SQUARES ESTIMATION IN THE LINEAR MODEL

Equation (4) illustrates a way that parameter estimates can be obtained. For any parameter vector
0, the fitted value is X3, and thus the term in the exponent

S(B) = (y—XB) (y — XpB)

is a measure of goodness of fit; if S(/3) is small, then y and the fitted values are closely located. It can
be shown (below) that the minimum value of S(/) is obtained when

XTX3=XTy.
yielding the Ordinary Least Squares solution
3= (X"X)"'XTy.
However, without further distributional assumptions, we cannot proceed to understand the uncertainty

in the estimation.
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1.3 MAXIMUM LIKELIHOOD ESTIMATION IN THE LINEAR MODEL

Maximum likelihood estimation for the normal linear model is straightforward. If 6 = (3, o?)
then the mle 6 is given by

Oniz = arg max fyjgq2(y; . 0%) = arg max L(5, 0%y, )

where parameter space © = RExR™. Taking logs in (4) gives

n n 1
log L($, 0% y,x) = — 5 logo® — 5 log 21 — o —(y = XB)T(y — Xp) (5)

o2
and considering the maximization for § indicates
arg max log L(3,0%; y,z) = arg min (y — X8) (y — X
g max log L(§,0%y,x) = arg min (y —X05) (y - X5)

and thus,

SB) = (y—XB)"(y—Xp)
= yly—y' XB-4'XTy+4TX"XS3

= yly—2y'XB+BTXTXB.

Using vector/matrix differentiation

d {1 _ T d TxT _oxT
a5 lXep =yTx 45 1FTXTX5 | = 2XTXp (6)
and so if B is the solution of
Lfl (ﬁﬂ ) _ —y"X+XTXB=0

then it follows that B satisfies R
XX =XTy. (7)

If the matrix X' X is non-singular, then we have the ML estimates of 3 as

B=(X"X)"'XTy (8)
and substituting back into (5) gives
2 L BT XF) = LS o2
6% =—(y=XP)T(y = XB) = - > (vi — ) 9)

=1

where 3; = xIB is the fitted value, and y; — ¢; is the residual. Note that XTX is a symmetric
matrix. The expression (y — X3)T(y — X/3) is termed the residual sum of squares (or RSS). A
common adjusted estimate is

1 ~ ~
64py = m(y —XB3)"(y — XB) (10)

the justification for this result depends on the sampling distribution of the estimator.
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If K =1, with identity function g(t) =t

XX =

n n n
nooy Sal =Y
i=1 =1 =1
n - n
Sy DI n
=1 =1 =1

where

and so

B n n n
1 o —he 2
o T —1~T _ = = =
ﬁ_(XX) Xy— n252 n n
T
— Z X; n Z TiYi
L =1 =1
[ n n n n
DUTE D Yi— D2 Ti ), TiYi
_ 1 i=1 =1 i=1 i=1
- n292 n n n
‘ n Z LilYi Z Ly Z Yi
L =1 i=1 =1

For K > 1 calculations can proceed in this fashion, but generally the matrix form
B=(XTX)"'XTy

is easier to work with.

NOTE: Most good computing packages (R, MATLAB) have pre-written functions that implement this
form of linear model in a straightforward fashion.

1.4 FiTTED VALUES

Fitted values are readily obtained from this model. The fitted value y is obtained as

7 = XB=XX"X)"'XTy

and the measure of misfit is
SB) = w-9)"(y-9)
= (y—XXTX)"'XTy) T (y - X(XTX)"'XTy)

= 4y (I, - X(XTX)"1XT)y
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1.5 PROPERTIES OF THE ML ESTIMATORS

By elementary properties of random variables, the properties of ML estimator 7' = (XTX)~!XTY

Eyixpo2 [T] = Ey|xpe (XTX)"1XTy :((XTX)—le)EwXﬂ,oQ [V]

= (XTX)"'X")Xg=X"X)'(XTX)p =0
so that T is unbiased for 3, and

Vary o [T] = Vary|x e [(XTX) 7 XTY]
= (XTX)"'X")Varyx 50 Y] (XTX)"'XT)T
= (X™X)"1X")e?1,(X(XTX)™1)

= AXTX)IXTX)(XTX) ! =2(XTX) L.
Note that, in fact, given 8 and o2
Y ~ No(XB,0%,) = T = (X'X)'XTY ~ Ngy1(8,02(XTX)™). (11)
It also follows that
(y = XB)"(y = XB) = (y = XB) " (y = XB) + (B - ) (XTX)(3 - p)

S(8) = S(B)+ (B - BT (XTX)(B - 8)

where

S(8) = (y — XB)T(y — XB) (1)
SB)=(—XNT(y-XB)=(y—i)Tly—9) = D> (i — 3 (2)

(B=B)T(XTX)(B - ) = (X —XPB)" (X5~ XP) (3)
are the (1) TOTAL , (2) RESIDUAL and (3) FITTED sum of squares (TSS, RSS and FSS).
Therefore, by normal distribution theory, it follows that

S(B) s S(B)
o2 ~ Xn o2 ~ Xn—-K-1 (12)
so that R
2 S(ﬁ) . . 2
s* = ———+—— is an UNBIASED estimator of o
(n—K—1)
and the quantity ~ R
p-6 B

_pB-p
s.e.(B) = o ~ Student(n — K — 1).

It also follows that R R
S(B)=S(B) _ (B-8)TX"X)(5-p)

2
= ~ X
02 K+1
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so that finally
[5(8) - 5] /(K +1)
S(B)/(n— K —1)

It follows that in this case the ML estimator is the Minimum Variance Unbiased Estimator (MVUE)
and the Best Linear Unbiased Estimator (BLUE).

~ Fisher(K +1,n— K — 1)

1.6 THE ANALYSIS OF VARIANCE

Analysis of variance or ANOVA is used to display the sources of variability in a collection of
data samples. The ANOVA F-test compares variability between samples with the variability within
samples. In the above analysis, we have that

SB)=80B)+B-p)TXTX)(B-B) or TSS=RSS+FSS.

Now, using the distributional results above, we can construct the following ANOVA Table to test the
hypothesis

H():ﬁl:...:/@K:O

against the general alternative that Hy is not true.

Source of Variation D.F. Sum of squares Mean square F
FSS/K
FITTED K F FSS/K
55 55/ RSS/(n— K —1)
RESIDUAL n—K-1 RSS RSS/(n— K —1)
TOTAL n—1 TSS

This test allows a comparison of the fits of the two competing models implied by the null and alternative
hypotheses. Under the null model, if Hy is true, then the model has Y; ~ N(8,,03) for i = 1,2,...n,
for some (3, and O'% to be estimated. Under the alternative hypothesis, there are a total of K + 1
[ parameters to be estimated using equation (8). The degrees of freedom column headed (D.F.)
details how many parameters are used to describe the amount of variation in the corresponding row of
the table; for example, for the FIT row, D.F. equals K as there are K parameters used to extend the
null model to the alternative model.
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